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Sn−1 := {x ∈ Rn|󰀂x󰀂 = 1}Rn

Sn−1n− 1Rn

Sn−1Rn

N := enS := −enσ+ : Sn−1 \ {N} → Rn−1σ− : Sn−1 \ {S} → Rn−1

σ+(x) := NxRn−1xn = 0.

σ−(x) := SxRn−1xn = 0.

σ±

σ±Sn−1

ϕ = σ+ ◦ σ−1
− : Rn−1 \ {0Rn−1} → Rn−1 \ {0Rn−1}

{σ+,σ−}Sn−1
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T (r,R)Tf : R2 → R3

f(u, v) =

󰀳
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(R+ r cosu) cos v
(R+ r cosu) sin v

r sinu
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γ : R → R2T > 0γ(t+ T ) = γ(t)t ∈ R󰀂γ′(t)󰀂 = 1t ∈ R

C := im(γ)R2

λ : S1 → C

γ(t) = (h(t), k(t))hk : R → Rh(t) > 0t ∈ RSCOx2Ox3R3
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